Alphanumerics — A Neat Tvype of Puzzle

An alphanumeric puzzle is one where each letter represents a digit from 0 to 9. Once a digit is assigned to a

letter, then no other letter can be that same digit. The letter “O” can be any digit, it is not necessarily equal to
“0”. So, “O = 8” could be an answer. The two puzzles below are both addition puzzles. When all letters are

replaced by their respective digits, then the addition should actually work.

(A) SEND (B) ADAM
MORE AND

MONEY EVE

ON

A

RAFT

The two puzzles can be solved by using a grid system, where you cross out the digits that cannot be assigned to
a letter, until you find the one that fits. For instance, none of the words above when changed to numbers have a
number that begins with a “0”. So, in the first puzzle, S and M cannot equal zero.

Have fun, answers next week.

Answer to Last Week’s Question

Below is a filled in grid that shows you the answers:

House 2> 1 2 3 4 5
Colours Yellow Blue Red Ivory Green
Clues 6 and 2* | Clue 15 Clue 6 * Clue 6 * Clue 6 * and 4
Nationalities Norwegian Ukranian Englisman Spaniard Japanese
Clue 10 Clues 2, 3, 13,
and 5 *** Clue 2 Clue 3 Clue 14
Pets Fox Horse Snails Dog ZEBRA
Clue 11 Clue 12 Clue 7 Clue 3
Drinks WATER Tea Milk Orange Juice Coffee
Clues 5, 13, 4** | Clues 2, 3, 13, Clue 9
and 5 *#* Clue 13 Clue 4
Cigarettes Kools Chesterfield Old Gold Lucky Strike Parliament
Clue 8 Clue 11 Clue 7 Clue 13 #**** Clue 14

So the immediate answer is the Norwegian drinks water and the Japanese owns the Zebra.

*  Clue 6 says that the order of houses is Ivory then Green to its right. So Ivory-Green is either house 3 — 4 or
house 4 — 5. Thus house 1 must be Yellow or Red. It can’t be red, because Clue 2 says the Englishman is in the
red house, and house 1 has a Norwegian already living there!

** Clue 5 says the Ukranian drinks tea, so house 1 cannot drink tea. Clue 13 states the Lucky Strike smoker
drinks Orange Juice, so house 1 cannot drink Orange Juice. Clue 4 states coffee is drunk in the green house, so
coffee cannot be drunk in house 1. Since Milk is already assigned to the middle house, house 1 must drink
Water.

**% Clue 2 says the Englishman is in the red house, so house 2 cannot have an Englishman living there. Clue 3
states the Spaniard owns a dog, so house 2 cannot have a Spaniard. That leaves house 2 with the Ukranian or




the Japanese. Now house 2 has to drink Tea or Orange Juice, since Milk and Water is already assigned and
coffee is in the Green house, and this house is Blue. If Orange Juice is drunk there, then they smoke Lucky
Strike (clue 13) and that rules out the Japanese since he smoke Parliament (clue 14). So it must be Tea drunk
there with the Ukranian (Clue 5).

*#%% If I put the Lucky Strike smoker at house 5, I run into a contradiction By putting Luck strike smoker in
house 4 then house 4 also drinks Orange Juice (clue 13). This leaves coffee to be drunk in house 5, so it must be
green (clue 4) and the Ivory house must be to the left in house 4 (clue 6). That leaves house 3 as the Red house
in shich lives the Englishman (clue 2). Now that leaves the Japanese in house 5 since he smokes Parliaments
(clue 14) and no other combination works. Thus the Spaniard and the dog must be in house 4 (clue 3). That
leaves the Old Gold Smoker and the snails (clue 7) in house 3. Thus the Chesterfield smoker who lives next to
the fox must be in house 2, with the fox in house 1. That leaves the Zebra in house 5 with the Japanese.



